V1.0
CREALITY Ender-3 S1 BB EMHHIEH
Ender-3 S1 High Flow Kit Manual

BEEFH Packing List

El=

‘ ‘ 2. 50158 X X155 5015 Blower Fan

2 —
spider = L

——

1. EREBELE M High Flow Hotend Kit 3. 3tEA+ User manual -
T E# Toolkit
FREHE x2 Isolated column x2 wFx2 Wrench x2 M3*1488%2x4 M3*14 screws x4
M3*201%22x2 M3*20 screws x2
0.6mmMEHE x1  0.6mm nozzle x1 M3EFx4 M3 gasket x4 M2* 1288 22x2 M2*12 screws x2

ZEESPE Installation Steps

1B ST NE E3DITENF, KB SFTEMER T &bk : https://vip.creality.com/en/goods-detail/1840
Please print the fan cover model first, the download address of the fan cover model: https://vip.creality.com/en/goods-detail/1840

1R FREBSL KX . Remove the original hotend and fan. 2. REBRBBAEM KR50158 XN (REH £ TET) .
Install the high flow hotend kit and 5015 blower fan (the fan
can be adjusted up and down).

FREE x2
Isolated column x2

M2*1288%2 x2
M2*12 screws x2

M3*144822 x4

M3*14 screws x4
M3E5 x2
M3 gasket x2 M3*20484 x2
M3*20 screws x2
M3EF x2
M3 gasket x2

1 N — Q 1AY7AN — SHENZHEN CREALITY 3D TECHNOLOGY CO., LTD.
ElgeRlE] AR IR = B RHRER D B R E] . I
] [T - e - . - Add : 18F, JinXiuHongDu Building, Meilong Blvd.,
O = 7%1J||FEZZ+IZE7:|{§‘JJE%E¢FHIZ72?(15%%2;3;15%3?(%1% Longhua Dist., Shenzhen, China 518131
—_ };EE AEIMUL: www.cxsw3d.com Official Website: www.creality.com  Tel: +86 755-8523 4565
E'L =W RS3EL: 400 6133 882 0755-8523 4565 E-mail: info@creality.com cs@creality.com




